Solving Equations with Radicals

[PT 99-20]

Solve

1) Ja=9 2) Jx-3=5

4) Jx+7+6=3 5) —4=7-5-2x
7) T/x+4=89 8) 5+/x+2=10
10) \/3x—2-+/x+6=0 11) \Jy+7=5
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3) x-3=5

6) 5y =20

9) 7+/x-1=3

12) 3y +7=5



13) ¥x-1-2=5 14) 34-3y+2=1

1 1
15) x3=-3 16) (b-7) =4
1
17) x 3 =8 18) 2=5-,/2y+3
19) 3.542x =105 20) J7-9x—/13-6x =0

Answers: 1) a=81 2)x=28 3)x=64 4)norealsol. 5)x=-58 6)y=16 7)x=.49
8)x=23 9)norealsol. 10)x=4 1l)norealsol. 12)y=-8 13)x=344 14)y=5/3
15) x=-27 16) b=71 17)x=1/512 18)y=3 19)x=9/2 20)x=-2



